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+ From the given alternatives select the word

uihich can be formed using the letters of the
Elven word- 'DICTION A RY'
A, BINARY B. DAIRY

C. NATION D. ADDITION

Which of the following words will come fourth
if they are arranged according to English
Dictionary?
A. Blue

C. Blind

B. Bird
D. Black

. Ifﬁ.='6.B=?,C=H.D=9.ﬂwnthenumhtrs

7.23,20,25, 13, 10, 23 will give the word
A. NEITHER B. BROTHER
C. BOUSTER D. BRAWLER

. Look at this series: 7, 10, 8, 11,9, 12, ... What

number should come next?
AT B. 10
C.12 D. 13

. Look at this series: 22, 21,23, 22, 24,23, ...

What number should come nexit?
A, 22 B. 24
C. 25 D. 26

. Which word does NOT belong with the others?

B. ounce
D, yard

A, inch
C. centimeter

. Look at the letter pattern and fill the blank in the

series

QPO,NML,KJI, ____,EDC

A. HGF B.CAB
C.JKL D. GHI

Look at the letter patiern and fill the blank in the

fig e T. TAU
S, SA ] ! —
Qﬁ? B. UAT
gm 3 D. TAT
e R —
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. v fawedt 4 @ 9w v @ v o

R faw 70 w2 'DICTIONARY' % st &t
ST B T Wy e &

A.BINARY B. DAIRY
C. NATION D. ADDITION

. Fr=fefa # 9 o w1 v ol TeEw B
FTAR Tt B9 oy W W @ amer?
A, Blue B. Bird
C. Blind D. Black

. SR A=6B=7C=8 D=9 & g&=17

23, 20, 25 13, 10, 23 | & W = FM
A. NEITHER B. BROTHER
C. BOUSTER D. BRAWLER

. EH Ha B & 7, 10, 8, 11, 9, 12, .. IA

T 9T AT =Eifen?

A7 B. 10
C.12 D.13
¥ e o T 22, 21, 23, 22, 24, 23, .
T T J AMRY?
A.22 B.24
C.25 D. 26
T W R AN @ W A T e #
A¥9 - B.affw
C. #rirey _D.w@E
. Ryt @ 2w e @ @ R
w
QPO, NML, KJI, __,EDC
A, HGF B.CAB
C.JKL D, GHI

. fov M tedf @ 4w o oEen @ i A R

i

QAR, RAS, SAT, TAU, ____
A.UAV B. UAT
C.TAS D. TAT
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9.

10.

1.

b

3.

14.

15.

16,

P and K start from their office and walk in
opposite directions, travelling 10 km each. Then
P tumns left and walks 10 km, whereas K tuns
right and walks 10 km. How far are they now
from each other?

A 10 km B. 30 km
C.25km D. 20 km

Select the one which is different from other
three alternatives

A. Guitar B. Violin

C. Flute D. Veena

Uttarakhand ; Dehradun : : Mizoram : 7
A, Aizawl B. Kohima
C. Shillong D. Darjeeling

Introducing a boy, a girl said, "He is the son of
the daughter of the father of my uncle.” How is
the boy related to the girl?
A. Brother

C. Uncle

B. Mephew
D. Son-in-law

If in a code language, COULD is written as
BNTKC and MARGIN is written as LZQFHM,
how will MOULDING be written in that code ?
A. CHMFINTK B. LNKTCHMF

C. LNTKCHMF D. NITKHCMF

From the given altematives select the word
which cannot be formed using the letters of the
given word : INFLATIONARY

A. FLAIR B. FAULTY

C. NATIONAL D. RATION

Mani is double the age of Prabhu. Ramona is
half the age of Prabhu. 1f Mani is sixty, find out
the age of Ramona.
A 20

C. 10

B.15
D. 24

A family consisted of a man, his wife, his three
sons, their wives and three children in each son's
family. How many members are there in the

family?
A 12 B.13
C.15 D.17

1.

iz

13

14,

15
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TI?;#; B. 30 fa
c:ﬁﬁﬁ"’[ D. 20 fad
g ot o o W R P g
A.ﬁaﬂ B. amafem
c.7gh D. 3%
oS : AEvgd P
A, FTEA B. ®ifemr
c. frettT D.zrffem

v §d T IRET < T W 79 A 7w,
-z WY AN @ faen @ @& 7 k@ A FEm

a‘;ﬂﬁﬂﬁ#ﬁﬁﬂﬂ
A. ATE B. i
C. ==l D. sH1E

ufg U H1E WEl &, COULD &' BNTKC 3R
MARGIN &' LZQFHM & w9 ¥ foran wman
2 @ 99 8 ¥ MOULDING #9 feran
w?

A. CHMFINTK B. LNKTCHMF

C. LNTKCHMF D. NITKHCMF

e v Rt ¥ @ w9 = @ A B oW
Y a5 INFLATIONARY & 331 &1

TXa T2 a9 o gl B
A.FLAIR B. FAULTY
C.NATIONAL D. RATION

"ﬁ'ﬁmrﬂgaﬁmﬂa‘lﬁtimﬂ
W I am 9 & spe wf eo @€ @ &
N IW FT g A0

B. 15

D.24

A.20
C1o
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A.26

C. 3z

and 671= 17, then 884 =7
B.23
.19

I8. A cyclisy g0oes 30 km to North and then tming

East he goes 40 km. Again he turns to his right
and goes 20 km, Afier this, he turns to his right
and goes 40 km, How far is he from his starting

point?

A. 25 km B. 40 km

C. 6km D. 10 km
19.

One moming at 7 oclock, Naresh started
walking with his back towards the Sun. Then he
turned towards left, walked straight and then
turned towards right and walked straight. Then
he again turned towards Jeft, Now in which
direction is he facing ?

AL West B. South
C. North D. East
20. Veni is an year older than Smith. Smith is two

vears older than Salim. Raju is an vear older
than Salim. Who is the youngest of all ?

A. Raju B. Salim

C. Veni D. Smith

21, There are five shops in a row. H is on of the
right side of O and left side of R . L is o the
right of H and F is to the left of L. which shop ip

the Middle?
A H B.L
C.F D.R

. If FLOWER is coded as EMNXDS, then kg,
can SHOWER be coded in that code?
A. RGNXDS B. TINXDS
C. RINXDS D. SINXDg

_Six Persons A,B,C.D.E, and F are standing {, A
circle. B is between F and C, A is between D
and E, F is that left of D. Who is bchm:“ﬁand

F? -
AE :
c.C D.D
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1?.3%?&2:2!}313?6?1 = 17, Ot Bgg —?
*A26 B.23 -

C.32 D. 19

W%aﬂ?dﬂﬁ?ﬁ'{m

RS Bty o T
A. 25 km B. 40 km

G 6km D. 10 km

18. UF §IE 7 99, e a9 10 w5 @) aiw e
a‘aﬁmmﬂmmmﬂmmmm
mmﬁmmmWWJmﬂg
f ¥ a1¢ oir 1) o a8 v Rem

AT Y 7T 27
A. uftam B. =féyor
C. 9T D. gd

2. T Rl | 0% I 79 | o welw @ @)
WIS 4%1 & | ¥, WeW W US Wi 927 2
WA BlE B 87
AT, B. weM
C.a D.

21. U& dfts ¥ 9w g@ €1 H, O & = 3w afx
P RIT¥IREILEHSTEAREMNF L
@ @ oiv | 7 F o W gmm 87
A.H B.L
C.F D.R

22 Tf2 FLOWER #1 EMNXDS & &9 ¥ ®ifgq
* fmgr AT & o 99 ®1E 4 SHOWER W #9

Fifee fmm o wem 87
A. RGNXDS B, TINXDS
C. RINXDS D. SINXDS

23, OE @fh AB,C.D.E &R F 1% g0 % &2 &)
" BrARCE AU ADIRES dm & F,
D& aud AdRF @ e oF e?
A.E B.B
C.C D.D
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. Suresh is 7 ranks ahead of Ashok in the class of

39 students. If Ashok's rank is 17 th from the
last, what is Suresh's rank from the start 7

A. 16th B. 23rd
C. 24th D. Mone of these
If REEXAMINATION is writien as

EXAMINATIONER, how can REFORMER be

written in that code 7

A. REFORMRE B. REFROMER
C. FORREMER D. FORMERER
A piece of paper is folded and punched as

shown below in the question figures. From the
given answer figures. indicate how it will appear

when opened.
Qusstion Figurss @

o,

=1
]

=]

]

(]
B.B
D.D

_In a row of boys, A is thirteenth from the left

and D is seventeenth from the right. If in this
row A is eleventh from the right, then what is
the position of D from the lefi?

A. 6th B. 7th
C. 10th D. 12th

If ‘green’ means 'red’, ‘red’ means ‘vellow!,
'vellow' means ‘blue’, blue' means 'orange’,
‘orange’ means ‘black’, then the colour of sky
will be —

A, Yellow B. Red

C. Orange D. Green
Thermometer : Heat : : Barometer : 7
A. Temperature B. Pressure
C. Humidity D. Altitude

24

25

L

26

')

g
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et Y 4 3R G 17 ¥
E am i
B. 23
D. IR &% =

39
e
zlﬁ@ﬂﬁwﬁ

A 160
C. jdﬁ

™

REEXAMINATION &l

- (INATIONER @ ¥ % foran vy 8 o

REFURMERaﬂwmﬁzﬁﬁmm

A, REFORMRE B. REFROMER
C. FORREMER D. FORMERER
mmﬁﬁﬁﬂmmm@mm
ST &1 &Y 7Y SR AFRE 4 F 3 52
f @ O TR g€ BITA de e
Quastion Figires :

o e b_

Answar fgured

EEE]
W\ .
AA B.B

C.C D.D

27. TSP A g Gfn #, A a1 AR H 1370 I

D T ol o 17af 2 ufg g ARe A A TR
AR 1197 &, 7 g aix D @ Rerfy 7
A, 61 B. 74
C. 10a7 D. 129

(2B TR By 7 e ey, e 1 S W

%Wmﬂ'#ﬁﬁrﬁwﬁaﬁw~
T 57 araf gpremr 8, o BT W T T

ﬂ.‘ﬂ‘f.ﬂ B. @
C. Srafy D.&
2,
,g Tﬁlﬂa’ s 1= - 4 i e
C'ﬁmﬂm B. gE@
- ey D, HUE
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30.

31.

3%

KER

34,

35,

T L

Arrange the following words according to

:Eﬂglish Diﬂtiunary

- A i ;

A pple 2, Appreciate 3. Apply 4. Application

C. 1, 2.4.3 B.3,1,2,4
+1.3,4,2 D.1,4.3,2

I .
;:h‘;‘lﬂem"l code, NATION is written as
TNO. In that code, which word will be

Written as EROFMR 2
A. FORMER B. ROMFER
C. REFORM D. FROMER

Pointing to a man in & photograph, a woman
said, "His brother's father is the only son of my
grandfather." How is the woman related to the

man in the photograph?
A. Simr B‘ Aunt
C. Grandmother D. Daughter

A and B are young ones of C. If C is the father
of A but B is not the son of C. How are B and C
related?

A, Niece and Uncle

B. Daughter and Father

C. GrandDaughter and Grand Father

D. Daughter and Mother

Choose the alternative which is closely
resembles the mirror image of the given
combination

MALAYALAM

(1) MALAYALAM (2) MALAYAJAM
Al B.2
C.3 D. 4

Choose the alternative which is ::las,.:ly
resembles the mirror image of the given

combination

QUALITY
(1) OMVTLA (2 YTILAUQ
(3) YTLAUD (4 YTUAND
B.2
g'; D.4

» Download Testbook App

30. IS yeES F IER Frefafan =l @)
' arafem #¥
1. Apple 2. Appreciate 3. Apply 4. Application
Al1,2, 43 B.3,1,2,4
C.1,3,4,2 D.1,4,3,2

31. % A= @ § NATION &1 ANITNO &
v W9 A o w2 ) 9w @ A o W oTe
EROFMR faram s ?
A. FORMER
C. REFORM

B. ROMFER
D. FROMER

32. & TN ¥ UF AR T AN TN I gL,
T UF Afker A @, 9ue W @ O W arEr
F ghed 42 B aWER # HANE v ¥ 3w

#feen few Tve weftw 27
A TEF B. =Tl
C. T D. 42
BAIRB CIaR & IR C AF g
dFT B CH FATE DB IR C I
Hafde &
A. 7T iR sime
B. ¥ afw faen
C. 9t aflw =m|T
D. 921 3= =t
34, Prafoftea fEl 4 @ o9 o fim R T R
&1 gdor # wfafes gofer &
MALAYALAM
(1) MALAYALAM  (2) MAJAYALAM
(3) MVTVAVTYIN  (2) MAFAYArAM
Al B.2
C.3 D. 4

35, Freiferften forlf & & @ w1 R R ) fm
o1 gvr # witfam Sviar &

QUALITY

(1) ONVTILLA (2) YTILAUQ
(3) YTLIAUD (4) YTILIAND
Al B.2
C.3 D.4
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36. Select a suitable figure from the Answer Figures ﬂﬂ ﬁfjﬂ o
that would replace the question mark (?). Pl ? T
Probem Fgpres Brcswer Frgures - O \
- 7 o8 o) 1} i)
E@@' ! A4 $@I w® © B2 "
W (B (c) M m @ & W 1 4
A D.4
Al B.2 c.3
C.3 D.4 ‘
7 o At @ B g

37. Choose the figure which is diffi from the
G igure which is different -‘E_.l @ W
& |

-
B3 &/ T 2
M @ @& @ Al D.4
Al B.2 C.3
3 D. 4
N ‘ ﬂﬂﬁmﬁrm?ﬁm“ﬂﬂmﬁr
18. Find the minimum number of straight lines et Yt & aavgdar T8l |
required to make the given figure.
A. 13 B. 15
A.13 B. 15 C.17 D.19
C.A% D. 19

39. Choose the figure which is different from the 39, 9 agfy Y g o I A o B

rest. — & f/? e
NZ1T MO @ 3 @

m @ 3 @ Al B.2
Al B.2 C3 D.4
C,j D.4 o

40. Identify the figure that completes the pattern.
A

7] B © =
X) % @ & @& \Va E E
Al B.2 (1) (2) &)
C.3 D. 4 B.2
D.4
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43,
44
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45.

46.

i Eures show the expenditure 00
r:nT OUs items by families A and B. Whic
OWing conclusion is not correct?

h of the

;- A spends more on Food than B
- B spends more on clothing than A :
C. B spends equal amounts on food and clothing

D-.ﬂ' Spends more on rent than on any other
Ilem

If Football is called Cricket, Cricket is called
Basketball, Basketball is called Badminton,
Badminton is called Volleyball, Volleyball is
called Hockey and Hockey is called Golf, then
which of the following games is not played
using a ball?

A. Volleyball B. Basketball
C. Hockey D. Cricket
Priya and her father differ in their ages by 31

years. After 8 years. if the sum of their ages will
be 69, their present ages are

AT, 42 B. 17,48

C. 13,44 D. 20, 51

. A watch reads 4 : 30, 1f the minute hand points

East, in which direction will the hour hand point
?

A. South-East
C. North

B. North-East
D. North-Weg;

If water is called food, food is called tree, tre, 55
called sky, sky is called wall, on which of the
following grows a fruit?

A. Water B. Food

C. Sky D. Tree

If CLOCK = KCOLC, then RAMESH,
A. HAESMAR B. AHSEMaAR
C. SEMARAH D. MAARHsE

» Download Testbook App

g-“mﬁwﬁﬁmWMEﬁm

B. 4l BU81 W v ¥ wfyw @ wwar 2
C. 91 %o ol uel v ey wmn o wd
T

D. ¢ f&eh o w2 @ e w afye =
LG

42, R Fedld & fvde, frde @) araedta

aEedla B eficy, Aeftes @ At
dtelldla &1 8120 sl &9 &) s T @
e e & W | dfw & Sy 9 e
-0

A, At
C. Bt

B. arehedrs
D.free

43. o 3iR oo e &) 9w 9 31 o &1 v

21 B W 4%, AR I g & 9 69 B

T ST e g @
ALl 42 B. 17, 48
C. 13,44 D. 20,51

44, U T 4: 30 THRN 2| ofy fe Al g

gd fewm &t siR g w2, o 5 A
fra e &1 guiwh
A. o gd fam
C. 9o fam

B. Wy qd fawm
D. 9t uf¥ew fewy

afE 9l B Wi BEl W €, W o U
FEl W 2, U8 B WE Fel 9 2 alk
T Y EAR BET A 2, i i 9

fire O el ST
A, OrT B. 5+
C. Ty D. 7%
46. a2 CLOCK = KCOLC, & RAMESHA =?
A. HAESMAR B. AHSEMAR
C. SEMARAH D. MAARHSE
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48.
49.

50.

S1.

53

54.

SS.

_Ais father of B and C. B is the son of A. But C

is not the son of A. How is C related to A?

A. Niece B. Son-in-law
C. Daughter D. Grandson

I'Z =26, TANK = 46. then, KITE =?

A 54 B. 45

C.65 D. 27

STAR : RATS :: WARD :?

A. DRAW B. FAME

C. MICE D. SHINE

Introducing a woman, Shashank said. She is the
mother of the only daughter of my son. How IS
that woman related to Shashank?

A. Daughter B. Sister in law

C. Wile D. Daughter in law

“Father of Indian Missile Science” is
A. A. P. ). Abdul Kalam

B. P. K. iyengar

C.C. V.Raman

D. Sir Jagadish Chandra Bose

_Satellite launching station is located at

A. Sriharikotta (Andhra Pradesh)
B. Solapur (Maharashtra)

C. Salem (Tamilnadu)

D. Warangal (Andhra Pradesh)

“QOperation Blue Star" is associated with
A. Akshardham Temple B. Golden Temple
C. Babri Masjid D. None of abave

Who founded Ramkrishna Mission?
A.Ram Krishna Paramhans

B. Swami Vivekananda

C. Ravibindra Nath Tagore

D. Devendra Nath Tagore

What is the difTerence between the Indian
Standard time and Greenwich Standard Time?
A. 5 Hour

B. 15 Hour and 30 minutes

C. 5 Hour and 30 minutes

D. 6 Hour and 30 minutes

» Download Testbook App

frar 2 3R B. A & g4

B aiiR ¢ &
4 a‘@qc A3t g7 AR 21 C A B R mufy
,,(mﬂ B. TR
g—,,‘ﬂ D.d=2
C
szo.TANK=46.m KITE - »
L Zﬁf B. 45
2'(5,5 D. 27
R :RATS :: WARD:
¥ iTSRA B FAME
c. MICE D. SHINE
50, T AB qfea <9 §Q VIS 3 F7) g
REe P gas?ﬁ*cﬁ #a"t T 2| @ AR
mmﬁ 3 B9 Tl 27
A T B. Wl
T D. T3y

5t"mﬁmlﬁﬂﬁﬂfﬁwﬂiﬁ37$"2—
AT @ @ g HA™
., & TR
C.H @ @A
D. W A g% AW

52 Aaze T Re= Rad @
A HeRPer (3R w2v)
B. VAR (ABRTST)
C. qom (afferg)
D. IRFII (SR T)

53. “HfTIA F wer” fHEA I3 &
A. dEuT HfeR . @i #fe?
C. I R p.3™ A ¢ 7

54. ““mﬁhm A zeng fFEA @ A
"”‘"m
Bmﬁam
Dwm

55;’;?ﬁﬂmwammamm$
SR T @
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61.

62,

63.

64.

65.
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 Vikram Sarabhai Space Centre is located at

« Pupe
B. Ahmedahad
- Sriharikota
- Thiruvananthapuram

Who was the first Indian 1o go into space
A. Rakesh Sharma B. Ramesh Sharma
C. Suresh Sharmg D). Mahesh Sharma

Garampani sanctuary is located at
A, -T‘Uﬂﬂl__:ﬂ.rh. Gujarat B. Diphu, Assam
C. Kohima. Nagaland D, Gangtok, Sikkim

The International Date Line 15
A. Equator B. (0° longitude
C. 90° east longitude D. 180° longitude

The unit of measurement of the distance of stars
from the sun is called
A. Light vear

C. Nautical miles

B. Fathoms
D. Nano meters

Who was the first Indian Chief of Army Staff of
the Indian Army ?

A. Gen. K.M. Cariappa

B. Vice-Admiral R.D. Karari

C. Gen. Maharaja Rajendra Singhji

D. None of the above

Durand Cup is associated with the game of
A. Cricket B. Football
C. Hockey D. Volleyball

Malfunctioning of which of the following
organs causes jaundice?
A. Stomach

C. Liver

B. Pancreas
D. Kidney

Which Indian state shares its borders with three
countries —Nepal, Bhutan and Ching?

A. Arunachal Pradesh  B. Meghalay,

. West Bengal 13, Sikkim

World Consumer Rights Day is celehrugeq on
A. March 15 B. April 18
C. September 27 D. Decembey 1)

-10-

56,

57,

58,

61.

63.

65

— EHENES & = o e LR
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fmm AR g &
A 'EIU'I TH Ve flam 2
B. seqeme

C. siefimmey

1. ﬁTfm'-lT[‘]_'{'lT

SRE # Sy ey Tl W 7 O
AL TR T

; B. 7971 91911

C. ¥y v [. 529 It
. TR gl @t frore 2

A S[AE, T B. g 2w

C. Fifemn, amma= D. mrerE, fafers
FRE fEars vy @

AL B.o° a=r
C.s0° qd ey D. 180° Z71777
X AR @ @ @ A B g e w
A

A. WETe T B. FTRiH
C.\ifewa e D. F=mdTey

AN 1 & UEd MR W g e
A, TFE . TR @y

B. IU-TSfiRa am. 3. derl

C. et WERTA Tore fie ot

D.37 A T d

g7e @u frm a9 @ gafug @

A, forde B. Weare
C. gfan D. dfsitais

Freferftan &1 A 9 e =) O
HRO I & |
A UE

C. iR

B. sy
D, fFeh

f s v @ et e S g

et AR AR B e e §9
A, MBI WY B. Yoy
C. ufdes anre D. fHfim

fasar awitent IMTR R w1 s amay @
A, 15 W B. 18 3t
C. 27 fhar D. 10 fawae
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66. "Thomas Cup' is associated with which o A E’fﬁ b m"
game/spor(s? . mﬁaﬁa 2
A. Hockey B. Foot ball 5
C. Basket ball D. Badminton ; fraw e TG BT 5 Gy o
o7, T .
67. 'Teacher's Day' is observed on which of the " AS Ry B2 g
i o AT Dz ATy

A, September 5
C. November 14

B. January 30
D. October 2

&ﬂﬁaﬁmﬂmfﬁwﬁqaﬁmm%

B e ST 27
68. The birthday of which of the leader in India is w1 A oy :
observed as Children's day? A. TER m‘&?{ Em; aﬁm e
A. Mahatma Gandhi B. S.Radhakrishnan ij\';ﬁﬂ e o A

C. Rajiv Gandhi D. Jawaharlal Nehru

| fasg TR [T FAET W @

69. World Literacy Day is observed on » feeia B. & 3T
A.Sep 5 B. Aug 6 A'SW D. 24 ¥&a
C.Sep 8 D. Oct 24 C.8 1

70. Who amongst the following is the speaker of the

7

o, gt A < WA o Fefoi A 9 e

current Lok Sabha? &

A. Sushma Swaraj A. AT R
B. Sonia Gandhi B, s TivEn
C. Sumitra Mahajan C. g e
D. Meira Kumar D. #R/1 FHR

71. Confinement of any enrolled member of the
Force within the Foree or a detachment of the

71, 7% @ frdl AmifeT W@ B B P el

iRe FreR e, RfseT o e R T B

Force or a post quarter guard, building or tent Pt # v o 99 oEd )
under charge of a guard is called A, S0 a0 B. 'ﬁ'ﬁf e
A. Open Arrest B. Closed Arrest C. o D, fem

C. Arrest . Detention
72. Petty punishments under CISF Rules can be

awarded to
A. Head Constables

C. Constables

B. Followers
D. All of the above

73. Arrange the following posts in order of seniority

(1) Assistant Inspector General

72. DT PR @ ol e TR

%% R o1 woa 2
CoHas

B, ST
p. rga ¥

73. TR o g PR

(1) Weras fAadems o

(2) Director General (2) H'g}ﬁé-gm;
(3) Inspector (3) Evrgey
(4) Assistant Commandant () Werrp mide -
A. 1234 B.2143 A 1234 B. 2143
o) ~ -
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?4. vl‘rhEI"ll:l,r-n & seqrg
longings is

tion
> 11 of the CisF pcy
c 5 of the CISF aq
D 1 ke CISF Ay
-1 of the CISE Act

h of a person and of his
conducted, it is conducted under

785,
Reaqd the ﬁ'.‘l”l:l"&'ing statements

:j' : :Elmpulan retirement
= Withholding the increment of pay.

Which of th
e above is / . ;
Under CISF Ryles €15/ are 2 major penally

Al .
& BU:::' B.2 Only
~o0th 1 & 3 D. None of the above
?6. Whi v
o::I :h branch is not a constinent part of the
Al E!fe::uti‘re Branch
B, I»:Imust:riat Branch
C. Fire Service Branch
D.Maintenance Branch
77. The superintendence and administration of the
force lies with:
A. State Govt. B. Central Gow,
C. Central / State Govt. D, None of the above
78. Central Industrial Security Force (CLS.F) was
established in
A. 1959 B, 1969
C. 1970 D. 1960
79. Which act applies to the member of the Foree?
A. Payment of Wages Act, 1936
B. Industrial Disputes Act, 1947
C. Police (Incitement to Disaffection) Act 1927
D. Factories Act, 1948
80. Which one of the following CCS Congyg,

Rules, 1964 deals with sexual hamsg.nm of
working women
A. Rule 14A

. Rule 3C

B. Rule 2
2, Rule3;

-12-
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74 TN B e g
T oIS
| T I
A.CISFﬂﬁﬁ‘waﬁm
H.CISF:ﬁﬁrﬁwﬁm:‘
E‘.CISFmﬁﬁwﬁmf
D. CISF ffiram o arey 1o

75, (=Tt o
(1) $ard Feforgi
{llaﬁ?g%aﬂ
S % % -
W g CISF R S o o
AT 1 B. s 2

76. B W W, w6 W o vew
A BTHEN Wy s
B. ¥amerdi vy
C. R wfdw vy
D.¥Ewa v

7. 99 T e iR weme R anf 2
A. T FRER B. &= waR
C.%7% IR T8 TFR D37 & B =

78, TE1 ST e 0w (C.LS.F) & wmr
o T o
A. 1959
C. 1970

B. 1969
D. 1960

79 79 B Hewl W B W afRfw anyp e ¢
A, I 3T s, 193
B. afteifres fae wffm, 1947
C. gfers (gramgede g femnbaem)
arfarfram, 1922
D. FREET HFFTE, 1948

go. Freifefia & 4 @F-W & CCS s
fmn, 1964, ETTETA Afeanel & A9 SefeT
A wara €
A FTE 144
c. Faq 3C

g, fyam 20
. a1

Page - 11
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period of more th
an

-Jhl... ? d,ays

C. g da}rs

agistrate for 4

B.g days
D. 10 days
- Who is noy a subar
A. Inspectar
B. Assti, Sub, Inspectpr
C. Head Constable
D. Sub, Inspector

dinate offjcer

83. Who amonst the fol

B. Sﬂ“ﬂn’l Wﬂngchuk
C. Both *A” and -B°
D. None of the above

84. The recently inaugurated Bogibeel Bridge in

Assam is situated on which river

A. Ganga B. Brahmaputra
C. Yamuna D. Tapti

85. The tallest statue in the World of Sardar Patel
which was inaugurated by Sh. Narenda Modi is
182 meters tall. This statue is called as
A, Statue of Liberty
B. Statue of Unity
C. Statue of Integrity
D. Statue of Courage

86. Kumbh Mela is organised in which city in 2019

81.

82

——
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v @ O T AN e

WWWWEB%WW
ﬁﬂWMﬁmmﬁmg
A 7fea B. 8 fag
c.ofEA D. 10 foq

aﬁﬂqﬁmm?ﬁé

™ fivey

 Prferfad & A Row av 2015 4

Y qHER & ol
A. WA geA1
B. @A aiTgES
C.99gw (A) R (B)
D.99g® H | P T8

.oE # BT & A Sgues ey

e g v 78 w flug @

A TR B. 7ETgH
C.Ig D. T

.ﬁwﬁmmmmmﬁ

oS W R S T A g T e fex A
o &1 SRETes R ) o @ A 2
A R i feradt

ﬂ&mw#mmﬁ@,ﬁmmm
T @

A, Haridwar B. Prayag (Allahabad)
C. Mashik D. Ujjain A ®Rew S )
C. e D, I&AA
87. 103" Indian Constitutional Ammendment is 87. 103 4 —
related: i I
A. Muslim Women ‘ AR
B. Reservation for econmically weaker of B. g qa"ruﬁ%a q i . B
General Category . Emm H
C. Inter-State River Water Dispute Di 1 ST
D. None of the above - TR ¥ ar
_"I.I._..._".“'-._ A
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RR 1=
8.1 IPU sultan was the ruler ol
A Hy derabad B. Madurm
C. Mysore D). Vijayanagdf

-y -
Eq'. W hll..'l'l ol the r“”i’“il'l.l.‘, is used in [‘bL“I'I'“I!"
B. Silicon

i Giraphite
D. l‘lmsphﬂnﬂlli

C. Charcoal

90. Which state in India that produces the highes!
quantity of satfron?
A, Assam
C. Jammu and Kashmir

B. Himachal pradesh
D. Meghalaya

91. The Nobel Prize was first awarded in
A. 1976 B. 1958
C. 1901 D. 1972
92. 'Dandia’ is a popular dance of
A. Punjab B. Gujarat
C. Tamil Nadu D. Maharashtra
93. WWW stands for 7
A. World Whole Web  B. Wide World Web
C. Web World Wide D. World Wide Web
94. Which is not a browser for surfing Internet
A. Internet Explorer B. Opera
C. Mozilla Firefox D. Google
95. In which one of the following year, did the
Right to Information Act come into force?
A. 2003 B. 2004
C. 2005 D. 2006
94, For seeing uhjEf[S at the Sl.l.l'_fﬁ;E Qf‘ﬁl‘m“ from 3
submarine under water. the mstrm used s
A. kaleidoscope B. periscope
C I SMMF D- I-EIcS':DFt
- AMOUS Dilward Temples an: Siluated in
97. mi;ﬂf B. Rajasthan
A Madh
C. Maharashtra D. Madhya Pragegy
is situated in
g8, Golden TcTI:'i'ifl Skars
A, New Le D. Mumbaj
C. Amritsar
T

» Download Testbook App

gg. @ AT HE B WP o

A BERETE B.AgY
AR D ferarre

po Wﬁfﬂﬁ’lﬁmﬁﬁﬁmm&m
W 87
A UBTEE B.Rfaaia
C.aRPIA D.BHRE

g0, WA # P W1 AW & S W Aoy T A

FR T IS Y 8

C. o R FHR D. Berer
o1, Tad YR Aldel [N &a 2w war en
A. 1976 B. 1958
C. 1901 D. 1972
g2, "SifEqr TH drdHa T 8
A. T B. T
C. g D. HEWTE
93. WWW &7 areuy &7
A. To8 Fd T B. aI¥S dc€ 49
C. 34 I8 a5 D. 758 A5E @
94, = & & @19 geve |t @ fag e
T4 &
AZETIE TR B3R
C #foren sraveied DA
o5, Frferftaa & 9 forw ad & g @ AT
yfefrs @y gan?
A 2003 B. 2004
C. 2005 D. 2006
96. T @ A TF gAgal | U A AE T
aegalt B S @ forg g fRa 9 AT
JgEHEI B
A. BTTEEIERIY B. 3RwFY
(‘.ﬁm D.W
g7. witg Aomm #fey fem #
‘A TE FEY B. ot
C. FERT D. Wi Waw
98. vl WiEv FEl fug #
A ¥ faeeh B, 3ITTRT
C. T D. Taé
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99, Normally the Commonwealth G

ames are
intervals of held at
A. 3 vears B. 4 years
C. 5 years B, 6 yeas

100. Which of the following Mughal Emperors
shified his imperial court and residence from
Agra to Sikri. later renamed as Fatehpur Sikri?

A. Akbar B. Jahangir
C. Shahjahan D. Aurangzeb

101. How many bricks, each measuring 25 em x
11.25 em x 6 em, will be needed 1o build a wall
of Smx6mx225¢em?
A, 5600
C, 6400

B. 6000
D. 7200

102, 3889 + 12,952 - 7 = 3854.002

A 47.095 B. 47.752

C.47.932 D. 47.95
103.0002x05="7

A. 0.0001 B. 0.001

C.0.01 D. 0.1

104.34.95 +240.016 + 2398 =7
AL 298.0946 B. 298.111
C.298.946 D, 299.09

105. In 100 m race, A covers the distance in 36
seconds and B in 45 seconds. In this race A
beats B by:

A.20m B.25m
C.225m D.9m

106, P and Q invested in a business. The profit
eamed was divided in the ratio 2 ; 3. If P
invested Rs 40000, the amount invested by Q is
A, Rs, 30000 B. Rs. 50000
C. Rs. 60000 D. Rs, 70000

107. In a 200 metres race A beats Bby 35 mor 7
seconds, A's time over the course is:
A 40 sec B. 47 sec

C.33 sec D. None of these

-15-
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o ﬂﬂg;aaagﬁaﬁmﬁrmw
mﬁﬁﬁﬂm B.4 99
é:'ﬂﬂ' D.g 74

ﬁﬂﬁqﬁg’aﬁ?ﬁﬁqﬁﬂ?m#}ﬁ
T |

ﬂw B. STEmi

C. TETE D. ¥orem

101, 8 HIEX x 6 AIEX x 225 FA A Fw 2

T

& fop 25 AeX x 1125 T x 6 1 77 =

e 221 @ STEaTEE =
A. 5600 B. 6000
C. 6400 D. 7200

102 3889+ 12,952 -7 = 3854.002

A, 47.095 B. 47.752
C.47932 D. 4795

103 0.002x0.5="7

A, 0.0001 B. 0.001
C.0.01 D. 0.1

104. 34.95 + 240.016 + 23,98 =7
A, 298.0946 B.298.111
C.298.946 D, 299.09

105. 100 W1eR 3 g w1 A 3 36 e 7 I B
#45ﬂﬁ%ﬁ@m1ﬁrmf{a=‘fﬂﬁ"

A20m B.25m
C+22.5m D_gm
108. P afiy

Q 3 v R ¥ frdw B 79 A

23 § ap 3 W0 40000
qrer | IR P

Rl i epakdbglipbch

A. %0 40009

B. F0 50000
€. %0 600gq D. F0 70000
m?;g%%tﬁﬁiﬂﬂﬁﬂﬁﬁmﬁmT
e V@& @ A 31 FF T
A.mm
B, 47 WIS .
3 Y D, g @ T
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2 Gk spre
108. The speed of a truck 1% 1/ the P s

ol : in
train. The train covers 1230k !

What is the speed of the truck

i}

A. 85 kmph iy, 42 kmph
C. 81 kmph 1y 47 kmph
109. 128 579, of 84 + 262.5% of 48 ! 22.22% ol
27- 9
AL 210 B3, 220
C. 230 13, 240

110 6/9 of 81 i<
A.38 B. 54
C.64 D.7

TL In some quantity of ghee, 60% is pure Ei““f
and 40% is vanaspati, 1 10 kg of pure ghee 1S
added. then the strength of vanaspati ghee
becomes 20%. The original quantity was :

A 10 kg B. 15kg
C. 20 kg D.25 kg

112, In 10 innings, a cricketer scored at an average
of 56, After 11th inning his average increases by
4, How many runs he scored in the 11th inning?
A, 90 B. 105
. 100 D. 110

113. A person's salary is decreased by 209, By
what percentage, his reduced salary shoyld b
increased so that it equals his old salary,

A, 25% B. 20%

C. 30% D. 359

el WL o

114, A man has Rs. 4rﬂu i the denomingigng o¢
rupee notes, live-rupee fiolesy
:::;5. q"cln: number of notes nf:m:‘d len-rupee
denomination is equal. What is the —
of notes that he has? r
A 43
C.75

B. 60
I3 90

115. When a plot is sold for Rs. 18,709 the

loses 15%. At wha price must thy, Doy b:.nm
in order to gain 15%7 sold
A. Rs. 21,000 B. Rs, 22.500

| (. Rs. 25,300 D. Rs, 25.,3%

» Download Testbook App

108 T g @1 29 Froafy #r g 908, a
1230 (580 @1 gh 5 02 F qa wh & o
) ufq g #2
A. 85 fBf /e
.81 B /e

B. &z f&# s ua
0. a7 & /e

109. B4 1 128.57% + 48 &1 2625% + 27 Fl 22
2%~
A. 210 B. 220
C. 230 [). 240

110. 81 %1 6/9 &
A, 38 B. 54
C. 64 D.7

11, 8l @ FE A= H, 60% T HY AN 40%
gl ©1 & 3 10 g = ST FW,
o et HY T U 20% B e g e
T e A 2
A. 10 kg B. 15 ke
C.20 kg D. 25 kg

112 10 wIfFf B, v fiFpee A 56 @) At 9 99
A 11 & ot @ arg IEe! ot § 4
gfz &8 1t o 4 9w e = gEn?

AL 90 B. 105
C. 100 Dol

113, T @fth &1 94 20% HH 2 F | TuE
H¢ BQ A0 #  fdhern wfaem @eTn g v s
AW IHE g S & 8wl

A, 25% B, 2%
C.30% 1), 359
114, UF afdd & O 1 FO 5 HO dUl 10 B0 H 1

Ao W Tl 480 w0 # | 0 e #) wen
WEN 2| @ el w ey &?
A. 45 B. 60
C.75 D, 90

15, U @iie & afd 1a700 &0y § da omor 8
al afas @ 15% o1 qaaE g ) o1s% , 12
HATET R a [ et @1 el ge evm
AT 21,000 B, % 22,500
CoF 25300 [2.% 25800
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| 16. Which of the following is a prime number ?
A9 B.2
C.4 D.8

117. What is the largest 4 digit number exactly
divisible by 88
A, 9900 B. 9999
C. 9988 D, 9944

118. What least number should be added to 1056, so

that the sum is completely divisible by 23

A4 B. 1
C.2 D.3
119. 7589 - X = 3434
A 4155 B. 2321
C.3155 D. None of above

120. A number when divided by 44, gives 432 as
quotient and 0 as remainder, What will be the
remainder when dividing the same number by
il
A5 B.3
.4 D.6

121. To qualify for an entrance test. 65% marks are
required. If the maximum number of marks is
600, then the cut off is in respect of qualifying
marks is
AL 490 B. 390
C. 360 D. 395

122. 792,02 + 101.32 - 206.76

A. 676.58 B. 687.58

C. 686.58 D. 586.58
123.05x0.002="7

A, 0.0001 B. 0.1

C.0.1 D. 0.001

124. What decimal of an hour is a second
A, 0.0025 B. 0.0256
C. 0.00027 D, 0.000126

Wﬂ#aﬂnwmﬂmﬂ
116 0 B.2
f"*-4 D. 8
C.

Eﬁwiﬂﬁqﬂf‘aﬂﬁﬁaﬂﬁhm
1 e

9900 B. 9999
A
c 9988 D. 9944
e ﬂmﬁﬂmmﬁmaﬂmm
ad B. 1
c.2 D.3
119. 7589 - X = 3434
A, 4155 B. 2321

120 44 @ Fomferd 89 W UH HWEA AHA
0 A 432 3N AOFA P w9 # o Hf & I
T F 31 | fafem 9 R INEa @

g
A S B.}
C.4 D.&

121, fFelY vw ofen & aredf W & @ AU
65% W] P HONGHd 8| TG TR D
HeHaR AT s00 B, ) el IH D

=4 4 o Jfe T ¥
A. 490 B. 390
C. 360 D. 395

122 792.02 + 101.32 - 206.76

A.676.58 B. 687.58
€. 686.58 D. 586.58
123. 05 x 0,002 = 9
A 0.0001 B. 0.01
— D. 0.001

124. 1 ¥mg 1 52 1 fbgar sowed &
A.0.0025 B. 0.0256
C. 0.00027 D. 0.000126
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i 125 4036 F1 004 FR fmfom &0 W
23. 4.036 divided by 0.04 gives A. 1,009 B. 10.09
A. 1.009 B. 10.09 C. 1009 D. IR B A
C.1009 D. None of thes¢
- 126. 7 B TEA 10 U F1 e s AT
126. Find the average of first 10 multiples of 7 A. 355 B.37.5
?- 3359;5 B. 375 C. 385 D. 40.5
- 385 D. 40.5 :
127. TF TN ¥ ded! A s ang 16 7 R
”‘7-*"“’fmgeageni‘boysinaciassisIﬁgﬂ‘““d aefeal # oftwe amg 15 7 2, N F AT
average age of girls is 15 years. what is the o 7 8
dverage age of all A 155 B.15
ke 3.t 16 o @ B wEA
C.16 D. Can't be computed C.16 D. T
128. Average of five numbers is 27. If one number 128, Ofe Wt @1 aftea 27 B Ot UH ‘;E“
is excluded the average becomes 25. The @1 o1 fam A 1 e 25 B e &
Excluded “umbe.r is ﬁ?ﬂ?‘ﬁ Ei HeEdT g
A.35 B. 45 A.35 B.45
.55 D. 65 C.55 D. 65
129. If the average marks of three baiches of 55, 60 120, aft 55, 60 3R 45 BTE @ @ d=1 & Ed
and 45 students respectively is 50, 53, 60, then AP 50, 55, 60 &, & Wit g F aftEa AF @
the average marks of all the students is A 54.48 B.54.68
A. 5448 B. 54.68 C.54.60 D. 54.58
C. 54.60 D. 5458
, 130. T A1 3R 9@ vE T= 9 oftwa ang 12
l?-ﬂ.%ave_mgcageuﬁh?mtftherandherm ﬂﬁawﬂﬂma‘-‘rmﬁmmm 3
children is 12 years which is reduced by 5 years ol s 8 @ TR A o 2 | W A
if the age of the mother is excluded. How old is e 2 $is
the mother
A. 40 B. 41 A. 40 B.41
C. 42 D. 43 C.42 D. 43
131. A child is playing with a basket which contains e ﬁwm (@ I8 & W A v 8 R
65 toys. He takes out 25 toys from basket and ?: = Tﬂ_q; %ﬁﬂ?:; 2'&:‘;‘[ e 3=
puts back 18 toys. Then he takes our 22 toys ang ) ae P ol o g wL aﬂﬁﬂ bl
puts back 17 toys in the basket. Finally he takeg fr) i X w10 d 98 =3
out 18 toys from the basket. How many toys are Fre m P E?E! ; T
there inside and outside the basker? e arey 2 7 F e
A. IN-27 OUT-38 B. IN-30 0uT.35 A 3ER-27 TE-38 B, 3w
C. IN-35 OUT-30 D. IN-37 0UT.28 - SIER-30 WER-35

C. 3E¥-35 qEI-30 D. ¥=R-37 Wrew-28
132. The average age of 5 members of 5

famiiv "
2] years. If the age of the youngey; Sy i 132 0% oA 3 5 wewdt A il

ild | g 21 o
hild js § 2 ofr 5a9 op iy .
ears, find the average g of the fanj) WER B g 5 af &, o
finmufhiabmh. - ¥ ot the ?W*mmﬁmmm

A. 24 yrs. - 25 yry, !

A D.28 A. 24 yrs, TR
% -18-
el
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133. A train running at the speed of 60 km'hr
crosses a pole in 9 seconds. What is the lencth
of the train?
AL 120 melres
C. 324 metres

B. 180 metres
D. 150 metres

134, The total of age of Ruhi, Richa and Reema is
60 yrs. What would be the 1oal of their ages 3

YIS, ago.
A.57 B. 52,
C. 51 D. 54

135, If the total of half, one-third and one-fourth of
a number is 12 greater than the number, then the
number is
AL 144
C. 90

B. 154
D. 174

136. A candidate scores 30% of maximum marks
and fails by 8 marks while another candidate
who scores 35% marks gets 12 marks more than
the minimum pass marks. Find the maximum

murks.
A. 500 B. 400
C. 800 D. 300

137. A, B and C are partners in a business. A has
invested Rs. 350, B has invested Rs. 450, C has
invested Rs. 550. If at the year end profit eamed
is Rs. 403, then C would earn how much profit.

A 138 B. 285
C. 340 D. 165

138. A and B can do a work in 45 and 40 days
respectively, They began the work together, but
A left afler some time and B finishes the
remaining work in 23 days. Afier how many
days did A leave?
A. 8 days
C. 6 days

B. 7 days
D. 9 days

139. A, B and C together start a business in
partnership. The ratio of their capitals is 3 : 4 ;
7. If their annual profit be 21000,what will be
(s share in this profit?
A. 12500
C. 15000

B. 10500
D. 10000

-10-
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U,ﬂ'-a-[aﬁ‘ﬂﬁfﬁﬂﬂﬁ‘ﬂﬁ-ﬁﬁqg
maﬁiﬁfwmqﬁmmheqﬁm

e &7
A, 120 metres
C. 324 metres
134 wd) Fran iR O @ T 477 60 7t & 3
ﬁTfWMWWH ouf ?

A. 57 B.52.
E'SI DI. 5""

135 af% v WEA @ S, TH-E
e @1 @ AT T 12 3 2
@l e 8
A. 144
C.90

136, T N A UH T0url R aa @
30% 3 WIS §U & 8 3T W il ga)
v o adEml e e o @ 35% aiF
WIS B 999 3 STRvid 9 12 3% afw
2 WA HE 7
A. 500
C. 800

137. A, B, C foft e d wewrft &) A 3
%350, B 7 %450 3R C % ». 550 70 &
% T @ ofg ¥ 405 T oy BT 2 A C
T F e fewar 2

B. 180 metres
D. 150 metres

B. 154
D. 174

B. 400
D. 300

138. A 3R B %71 45 oy 40 2o} & vw 3
TR & | TR oo e e o R
T TG g arg A 3w e R AR

Bﬁzaﬁq‘fﬁm

: & R F | A A
wﬁmmﬁm‘%ﬂ

A 8 days B, 7days

€. 6 days D. 9 days
139.A.Emc%¥ Yerdt ¥ aE S
%ﬁ%g;@iﬁﬁmmarm?.ﬂl
A 12

c15(5:33 g-‘tgﬁ’}g
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140. Rs. 1900 is divided between A, B 204 € o
A's share is 1§um¢sufa'sand5'5 is1z e
of C's, What C's share?
A. 800
C. 400

B. 420
D. 900

141. The least number which should be added 10
2497 so that the sum is exactly divisible by 3, 6,

4 and 3 is:
A3 B.13
C.23 D.33

142. The price of petrol is increased by 25%. By
how much percent a car owner should reduce
his consumption of petrol so that the
expenditure on petrol would not be increased ?
AL 25% B. 30%

C. 50% D. 20%

143. A sum amounts to Rs. 1352 in 2 year at 4%
compound interest. The sum is
A Rs.1250 B. Rs.1200
C. Rs.1300 D. Rs.1260

144. The population of a city increases at the rate of
5% pa. If the present population of the ity is
185220, then what was its population 3 yr ago?
A 181500 B. 183433
C. 160000 D. 127783

145. A sum of Rs. 400 at compound interesy
amounts to Rs. 441 in 2 yr, mebeits
amount, if the rate of interest jg increageq by
5%?

A. Rs.484 B. Rs.56p
C.Rs.512 D. Rs.560
146. What is the differcflce compound
interest and simple interest fir 5 YT 0n the
of Rs. 1250 at 4% pa? i
A Rs3 B.Rsgq
C.Rs2 D.Rs g
J -20-
BN W

140. 1900 W90 B A B alR C & @9 §§ T
o metFATRTBS

mﬂlgwamnmmﬁﬂcaﬂh

@.-1%11:413? ICarfemr T2 7

A. 800 B. 420
C. 400 D. 900

141. 98 FET o 2497 # SrEr F =R @fF
T 5, 6, 4 3% 3 A faege s &
Al B. 13
C.23 D. 33

142. 0T B ST H 25% BT IfE g5 B TP
HR Wfes @ 9ge A Fo WA B H
Aftrer &9 Fe Ay @ O W @9 =

LI
A.25% B.30%
C. 50% D. 20%

143. 2 ¥ % 0 I W 4% THYfy T w =
T 6 1352 N R wfdr d
A.Rs.1250 B. Rs.1200
C. Rs.1300 D. Rs.1260

144, U ¥R BN ST6ET 5% Wiy o & =% &
Tl ¥ I wew B afuE e 1asam
2 3 WA Ued 3EE s e
A. 181500 B. 183433
C. 160000 D. 127783

145, IHYE A R AT T 6 400 2 7k 4 7
mz‘lﬂtlnﬁmﬂmnmgm
THE My Enfy?
A. Rs.484

B. Rs.560
C.Rs.512

D. Rs.560

146. 4% TINE # X W 2 2§ B fyw Ry M

12mm#rmﬁrﬂwg&mm
WERT &9 & = 3wy 2oy 2

g- 22 B. Rs.4
. s D i hs
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147. The first class ticket price of a circus is 12.
When the price is decreased then the number of
visitors increased by 80% and the total income
is increased by 20%. Now, what is the price of

each ticket?
A.Rs.8 B. Rs.10
C. Rs.6 D. Rs.15

148. 44% of the students in a class are females and
the number of male students is 42. Find the total
number of students in a class
A, 70 B. 65
C.75 D. 45

149. A room is 26m long and 15m wide. A 14m
square carpet is laid on the floor. Find the area
of the room which is not carpeted?

A, 190 B. 194
C. 200 D. 184

150, A man travelled a distance of 61 km in 9
hours, partly by walking at a speed of 4 km/hr
and partly on bicycle at speed of 9 km/hr. The

distance covered by walking is
A. 16 km B. 25 km
C. 30 km D. 45 km

Pick out the most effective word(s) from the given
words to fill in the blank to make the sentence

meaningfully complete.

151. My uncle decided to take ...... and my sister to
the market.
Al B. mine
C. me D. myself

152. If you smuggle goods into the country, they
may be ...... by the customs authority.
A. possessed B. confiscated

C. punished D. fined

153. Rohan and Rohit are twin brothers, but they do

not look ......
A. unigue B. different

C. likely D. alike

= '\"_" e = —-—

T
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At B. Rs.10

C:R,s:ﬁ D. Rs.15
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A. 70 B.65

C.75 D. 45
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A. 190 B. 194
C. 200 D. 184
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A. 16 fs B. 25 f&t

C. 30 f5A, D. 45 f&A.
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151. My uncle decided to take ...... and my sister to

the market.

Al B. mine

C. me D. myself

152. If you smuggle goods into the country, they
may bﬁ' ST, b}" [he customs aum'ltf.
A. possessed B. confiscated
C. punished D. fined

153. Rohan and Rohit are twin brothers, but they do
not look

A. unigue B. different
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154. The car in which the minister W8S traveling
s+ With an accident.
e B. drove

D. met

...... men
A- “'l.'l'ﬂw ﬂ,“ra}r B Eﬂﬂd nﬂ
C. put off D. lay off

Some proverbs/idioms are given below together
Wwith their meanings. Choose the correct meaning of
proverb/idiom.

156. At one's fingertips
A. To take revenge
B. Matter of shame
C. Complete knowledge
D. None of above

157. With open arms

A. Warmly B. Cold blooded
C. Resemble D. Coldly
158. By leaps and bounds
A, very fast B. very slow
C. in details D. aimlessly
159. Getrid of

A. Invite somenone

B. Attend an occasion

C. To begin to do something
D. Dispose of

160. By hook or by crook
A, By any means .
B. To avoid taking sides

C. To relax
D. Feel uncomfortable

-22-
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154. The car in which the minister was traveling
with an accident.
A. hit

C. crashed

B. drove
D, met

155. Owing to the power cut in the area, factories
are being forced o

...... men
A. throw away B. send off
C. put off D. lay off

FB FEE / qErae 9 o B Ay AR Ry
TG # | FEEE / qEry w1 wE e g

156. At one's ﬁ;]ggrﬁpg
A, To take revenge
B. Matter of shame
C. Complete knowledge
D. None of above |

157. With open arms

A. Warmly
C. Resemble

B. Cold blooded
D. Coldly

158. By leaps and bounds
A very fast
C. in details

B. very slow
D. aimlessly

B 5 o

159, Get rid of
AL Invite somenone
B. Attend an occasion
C. To begin to do something
D. Dispose of {

160. By hook or by crook |
A. By any means
B. To avoid taking sides
C. To relax
D. Feel uncomfortable
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In questions given below out of four alternatives,
choose the one which can be substituted for the

given word/sentence.

161. A person living permanently in a certain place

A Resident B. Native
C. Domicile D. Subject

162. An office for which no salary is paid
A. Hospitable B. Free
. Honorary D. Gratis

163. A hundred year old man:
A. Century
C. Cent

B. Centurion
D. Centenarian

164, Absence of the government
A. Anarchy B. Aristocracy
C. Autocracy D. Autonomy

165, One who is unable to read or write
A, Genius B. llliterate
C. Palisade D. Pulverize

In the guestions given below, the sentence has two
blanks indicating that something has been omitted.
Choose the set of words that best fit the meaning of

the sentence as a whole.

166, Shalini was not .......... by the criticism and
paid no ......... even when her best friend t talked

against her.

A, bothered, attention
B. troubled, mind

C. threatened, waming
D. minded, heed

167. Somesh ............ me coming to his table, he
smiled and ........... me a chair,
A. found, signaled
B. met, sat
C. looked. gave
D. saw, offered
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o ford fag %
fa 1 TN
living permanently in a certain place

161. A person :

A. Resident B. Natrlvc

C. Domicile D. Subject
162. An office for which no salary is paid

D. Gratis

C. Honorary
163. A hundred year old man: _

A. Century B. Centurion

C. Cent D. Centenarian
164. Absence of the government 1

A. Anarchy B. Aristocracy

C. Autocracy D. Autonomy
165. One who is unable to read or write

A. Genius B. llliteraie

C. Palisade D. Pulverize
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166. Shalini was not .......... by the criticism and
paid no ......... even when her best friend 1 talked

167. Somesh ........  me coming to his table, he

smiledand .., me a chair.
A, found, signaled
B. met, sat

C. Imkﬁdv Bave
D. saw. offered

Page - 22



A testbook.com .

168. The new Principal ... actd"m
administration ... t.hﬂﬂ o
and examination refonﬂ-“-
A. released, only
B. begm even
C. started, further
D. laid, rather

169. 1 would like to ........... your atientior mmt:.E
second paragraph of my |etter «e °
terms of sale of the machinery-

A. draw, pertaining

B. withdraw, regarding
C. react, mainly

D. invite, according

170. To v,
clothes.
A. prohibit, heat
B. protect, cold

C. save, heat
D. suffer, cold

168. The new Principal ...

169. [ would like to

17970 iinnians
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.. stress og
administration ... than on academ;; m
and examination rf:funm

A. released, only
B. began, Eveén
C. started, further
D. laid, rather

........... your attention 1 the
second paragraph of my letter ......... 1o the
terms of sale of the machmm.

A. draw, pertaining

B. withdraw, regarding

C. react, mainly

D. invite, according

. yourself from ............

.- Wear ua‘p:
clothes.

A. prohibit, heat
B. protect, cold
C. save, heat

D. suffer, cold
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Read the following passage carefully and answer
the questions that follow. You must choose vour

answers out of the four given choices,

“Uncle” said Luke to the old Sean “You seem to be
well fed. though | know no one looks after you. Nor
have I seen you leave your residence at any time.
Tell me how you manage it?"

“Because™ Sean replied, “I have a good feed every
night at Emperor's orchard. After dark, I go there
myself and pick out enough fruits to last a
fortnight,”

Luke proposed to accompany his uncle to the
orchard. Though reluctant because of Luke’s habit
of euphoric exhibition of extreme excitement, Sean
agreed to take him along. At the orchard while Sean
hurriedly collected the fruits and left. Luke on the
other hand at the sight of unlimited supply of fruits
was excited and lifted his voice which brought
Emperor's men immediately to his side. They
seized him and mistook him as the sole cause of
damage to the orchard. Although Luke reiterated
that he was a bird of passage, they pounded him
mercilessly before setting him free.

171. What does “bird of passage™: mean in the
context of the given passage?
A. There was a bird in the orchard
B. Other people stole from the orchard
C. Emperor knew him personally
D. He did not visit orchard regularly

172. Which of the following can be inferred from
the passage?
A. Luke did not take good care of his uncle
B. Emperor was a wicked man
C. Lack of self-control had put Luke into

trouble
D. Luke had a habit of speaking loudly

-25-
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Luke to the old Sean “You seem to he
i 1 know no one looks after you. Nyr
u leave your residence at any time

“Uncle™ said
wel] fed, thoug

have | seen YO o it
Tell me how you MARHETR

“Because™ Sean replied. “1 have a good feed every
night at Emperor s orchard. After dark. | go there
myself and pick out enough fruits to Jast 4

fortnight.”

Luke proposed to accompany his uncle to the
orchard. Though reluctant because of Luke's habit
of euphoric exhibition of extreme excitement. Sean
agreed to take him along. At the orchard while Sean
hurriedly collected the fruits and left, Luke on the
other hand at the sight of unlimited supply of fruits
was excited and lifted his voice which brought
Emperor’s men immediately to his side They
seized him and mistook him as the sole cause of
damage to the orchard. Although Luke reiterated
that he was a bird of passage, they pounded him
mercilessly before setting him free.

171. What does “bird of passage™; mean in the
context of the given passage?
A. There was a bird in the orchard
g- g;mr People stole from the orchard
D. He ﬂ;rim hww -
. not visit orchard regularly

'72. Which of the foligwing can be inferred from
the passage?
A. Luke dig
B. Empﬂﬂ[
C. Lack of
trouble

D. Luke

ot take good care of his uncle
Was a wicked man
self-control had put Luke into

had a habiy of speaking loudly
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'3 Bow il S chan”
ften Jd Scan visit e OF
A Dty
B Waekly
L. Once in s monsh
O Every day aftor miduight

173, Chocse the wod which is most pearly the
‘Sﬂa‘t in mf.n-ing as the wond “Refuctamt e
1 the passage.
A Againg -y
B. Disinclined
C. Opposey

D-_ Resistant

175. Why did Sean leave after collecting the fruits?
A. He feared that the hind's song would awaken
the Emperor
B. To avoid getting caught by Emperor's men
C. He saw the Emperor's men spproaching
D. He was afraid of the dark

Read the -1ru':"-iinwing passage carefully and answer
the questions that follow. You must choose your
answers out of the four given choices.

A man is known by the book he reads as well as by
the company he keeps; for there isa companionship
of books as well as of men and one should always
live in the best company, whether it be of books or

of men.

A good book may be among the best of friends. |1 is
the same today that it always was, and it iy SR
change. It is the most patient angd cheerful of
companions. It does not tum its back upon in times
of adversity or distress. It alwayy receives us with
the same kindness; amusing and i"ltrmjnu i
youth, comlorting and consoling us i age,

176, Which of the following would b, the tout
iate title for the given ;
appropriate litle fort ¥eN Passager
A. Books show the reader’s chy
B. Books as man’s abiding friends
C. Books are useful in the yoy
D. The jmpqniiﬂt'ﬂ of books in old -
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173, How often did Sean visit the orchand?

=20-

A Daily

B. Weekls

C. Onee in a month

D. Every day afler midnigh

174, Choose the wond which is most nearl v ihe
same i meaning os the wonl *Reluctant® used
in the passage,

AL Against
B. Disinclined
C. Opposed

D, Resistant

175. Why did Sean leave afler collecting the frui?
A. He feared that the bird*s song would awaken
the Emperor
B. To avoid getting caught by Emperor's men
C. He saw the Emperor's men approaching
D. He was ufraid of the dark

mihﬂﬂﬁmuﬁu#mlmﬂ!umnﬂ
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A man is known by the book he reads us well as b ¥
the company he keeps; for there is o eompanionship
of books o3 well s of men and one should always
live in the best company, whether it be of books of
ol men.

A good book may be among the best of friends. 11 is
the sume today that it nlways wis, and it will never
change. It is the most patient and cheerful of
companions. [t does not turm its back upon in times
of ndversity or distress. [t always receives uy with
the same kindness; amusing and interesting us in
youth, comforting and consoling us in age.

176. Which of the following would be the most
appropriate title for the given pasiage?
A. Books show the reader’s cliamcter
B, Books as man's abicing lends
C. Booky are useful in the youth
1. The importance of books in old age.
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177. Which of the following is opposite in meaning
to the word *adversity" occurring in the
passage?

A. happiness
B. prosperity
C. progress
D. misfortune

178. The statement, “ a good book may be among
best of friends,” in the passage means that
A. there cannot be a better friend than a good
book
B. books may be good friends, but not better
than good men
C. a good book can be included among the best
of friends of mankind.
D. our besi friends read the same good books.

179. According to the passage, which of the
following statements is not true?
A. Good books as well as good men always
provide the finest company.
B. A good book never betrays us
C. We have sometimes to be patient with a book

as it may bore us.

D. A good book serves as a permanent friend.

180. According to the passage, A man may usually
be known by the books he reads because
A. His reading habits shows that he is a scholar.
B. The books he reads affect his thinking
C. Books provide him a lot of knowledge
D. His selection of books generally reveals his
temperament and character

In the questions given below, out f:f the four
alternatives choose the word which is the exact

OPPOSITE of the given word.

181. Beautiful
A. Wonderful B. Graceful
C. Ugly D. Handsome
. Mighty:

Iu,:{ﬁcai B. Forceful
C. Forcible D. Tough

ermn !

lsa:a,,M[_c]T,.dam B. Recent

C: Cast D. Ancient
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Jowing 13 opposite in meaning

I
the 0 ty’ occurring in the

177. Which of g
1o the word +gdverst
passage?

A. happiness
B. prosperity
C. progress
D. misfortuné
“ ood book may be amon

ment, “ 3 8 .
A m:re cannot be a better friend than a good
tﬂmuhinks may be good friends, but not
ﬂ;ﬂﬂ good men i
C. a good book can
of friends of m:mkm
D. our best fri

be included among the best

d.
the same good books,

179. According to the passage, which of the
following statements 1S not true?
A. Good books as well as good men always
provide the finest company.
B. A good book never betrays us _
C. We have sometimes to be patmum[h a book
as it may bore us. ' }
D. A good book serves as a permanent friend.

180. According to the passage, A man may usually
be known by the books he reads because
A. His reading habits shows that he is a scholar.
B. The books he reads affect his thinking
C. Books provide him a lot of knowledge
D. His selection of books generally reveals his
temperament and character
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181. Beautiful ' :
A. Wonderful B. Graceful
C. Ugly D. Handsome
182. Mighty: :
A, Weak
| B, Forceful
C. Forcible D. Tough
183. Modern :
g. ggtdute B. Recent
: D. Ancient
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_ Divided: o
IHA. United B. Dignified
] D, Isolated
184, Divided: 5. D iﬁ:d C. Separated
A United " jenlal® R
besh p. 1= g5. Superiority : o
C. Separated 1 "\, Seniorlty B. Jumonrt}-
185, Superiority : B mniﬁrit}' . Inferiority D. Urbanity
A. Seniority " prbanity .
C. Inferiority DY o 2 T g A 4 REE A W IR g

out of the U Cop o Gt e # foA T TR W g

In the questions given belo™' . poqr expresses
alternatives choose the word which - il
the meaning of the given word: 186, Massive :
- ﬁ Huge B. Strm_'lg
186. Massive : g, Strong C. Little . Gaping
A, Huge ol Gaping 3
C. Little D.
187. Cease :
187. Cease : " A. Begin B. Stop
A. Begin et C. Create D. Dull
C. Create p. Dul
) 188. Pious :
1BE. Pipus : ; = B. Sympathetic
A. Religious - Symp
A. Religious B. Sympathetic : D. Faithful
C. Afraid D. Faithful G Abud
' . Paltry :
V. Raluy: i Avget " 1 Unfar B. Average
A. Unfair . e €. Insignificant D. Slovenly
C. Insignificant D. Slovenly - Insigmi
190. Prohibit : ) 190. Prnhihit‘: )
A. Prescribe B.-Fnrfclu A. Prescribe B. Furﬁ:‘n
C. Forbid D. Provide . Forbid D. Provide
191. In the options given below, find the correct 191. In the options given below, find the correct
word spelled correctly word spelled correctly
A. Adverisity B. Advercety A. Adverisity B. Advercety
C. Adversity D. Advercity C. Adversity D. Advercity
192. In the options given below, find the correct 192. In the options given below, find the correc!
word spelled correctly word spelled correctly
A Afen B. Afidevit A. Affedevit B. Afidevit
Cy et D- Affidavit C. Affidevit D. Affidavit
93. In the options given below, find the correc g
: word spelled correctly . I 193;::1:“ options given below, find the correc!
e B. Centy; spelled correctly
3. C::Ef?uf:ft D. cmm A. Centrefuge B. Centrifuse
fuge C. Centifuse D. Centrifuge

194, In the options given below, find yp,. .

word spelled correctly 194. In the options given below, find the correct

A. livelihood B.livelyhood word spelled correctly
C. livlihood D. livelyhyg A. livelihood B. livelyhood
C. liV]lhﬂﬂd. D llVEl}’hud
-28-
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195 In the options given below, find the correct
word spelled correctly
A. Enterpreneur

3 B. Entregrenure
C. Entrepreneur

. Enterprenure

In each question below, there is o sentence of which

some parts huve been jumbled up. Rearrange these
parts Which are labelled p, Q. R and § 1o produce
the correct sentence. Choose the proper sequence.

196. The police arrived a
(P) and arrested him
(Q) few minutes later,
(R) of his wife
(5) for the murder
The Proper sequence should be:
A QPSR B. SQRp
C. PSQR D. RQSP
197. A French woman
P : committed suicide
Q ¢ where she had put up
R : who had come 1o Calcutta
S : by jumping from the first floor balcony of
the hotel
The Proper sequence should be:
A. PRQS B. QSRP
C.RPSQ D. SRQP

198. When the carpenter
{P) finished his work.
(Q) and appreciate him for his work
(R) to inspect the house
(S) his employer came
The Proper sequence should be:

A, RPQS B. PSRQ

C. QRPS D. SPQR
199. He was so kind and generous that

P : he not only

Q : made others do so

R : but also

S : helped them himself

The Proper sequence should be:

A. PSRQ B. SPQR
C. PRSQ D. QPRS

200. All such students
P : get success
Q : who are honest and hard-working
R : and recognition
S : in very walk of life
The Proper sequence should be:
A. SPRQ B. PRQS
C. QPRS D. PSRQ

-29-

T '_’fr;
SRS T

» Download Testbook App

ions given below, find the _—

lgj;ar]{:rdm:pellad correctly .

A. Enterpreneur . Entreorenyre

C. Enu'cplﬂ‘c“r D. Em“]!l‘e“u;e
A Ryl A P TN Ry gy
2 g f T & RN B ThaaRey o
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196. The p-nIicé'arrind a

(P) and arrested him

(Q) few minutes later,

(R) of his wife

(S) for the murder

The Proper sequence should be:

C.PSQR D. RQSP

197, A French woman
P : committed suicide
Q : where she had put up
R : who had come to Calcutta
S ! by jumping from the first floor balcony of
the hotel

The Proper sequence should be:
A. PRQS B. QSRP
C. RPSQ D. SRQP
198. When the ter
(P) finished his work,
(Q) and appreciate him for his work
(R) to inspect the house
(S) his employer came
Proper sequence should be:
E“ RPQS B-PSRQ
- QRPS D. SPQR
199. He was so king
r ¢ ot gy and generous that
made others
R: butalse W%

S : helped them himse|f

The Proper sequence should be:
A. PSRQ B. SPOR

AR D. QPRS
200. All such studentg
P : get success

Q : who are honegy and hard-working
R : and reco Enitiop

S ¢ in very walk of Jife

The Proper sequence should be:
A. SPRQ B. PRQS
C. QPRS D. PSRQ
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